Technical Support Department
Blls' 1.877.BHS.4Y0OU (1.877.247.4968) ® BHS1.com
® M-F 8:00 A.M. - 5:00 PM. CT (GMT-6)

Battery Extractor
Swing Arm / Stiffener Plate Kit
P/N: 80252005

QTY  PART# DESCRIPTION

1 43055002 SWING ARM-LH

1 43055004 SWING ARM-RH

2 43057021 STIFFENER-SWING ARM

12 HW0403 BOLT-HHCS-3/8"-16 X 1-1/4"
12 HW0005 NUT-HEX-3/8"-16

12 HW0107 WASHER-LOCK-3/8"

24 HW0108 WASHER-FLAT-3/8"-SAE

Specifications subject to change without notice.
©2014-2017 BHS, Inc.

St. Louis, MO. All Rights Reserved.

08/17



